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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : CYRF-F-TXLI : Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
| PAPER - I

Time Allowed : Two Hours Maximum Marks : 200

3.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET, \ _

Please note that it is the candidate’s responsibility to encode and fill in'the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without amywomission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection. - N4

You have to enter your Roll Number on the D Qi
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,
This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English,
Each item comprises four responses (answers): You will select the response which you want to mark
on the Answer Sheet. In case you feel that there“is more than one correct response, mark the
response which you consider the bestqIn any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. :

All items carry equal marks.

Before you proceed to markiin the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should ‘hand over to the Invigiﬁ)ator only the Answer Sheet. You are permitted to
take away with youthe Test Booklet.

Sheets for roughwork are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVETYPE QUESTION PAPERS.

(i) Thereare four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as

penalty.
(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. Consider the following statements : 3.

' In the first Lok Sabha, the single largest
party in the opposition was the
Swatantra Party.

2 In the Lok Sabha, a “Leader of the
Opposition” was recognised for the first
time in 1969.

3. In the Lok Sabha, if a party does not
have a minimum of 75 members, its
leader cannot be recognised as the
Leader of the Opposition.

Which of the statements given above is/are

correct ?

(a) 1and3only

(b) 2 only

(¢) 2and3only

(d) 1,2and3 4.

2. Which of the following leaf medifications
occur(s) in the desert areas to inhibit.water
loss ?

1. Hard and waxy leaves

2. Tiny leaves

3.  Thornsinstead of leaves

Select thé correct answer using the code given

below :

(a) 2and 3 only

(b) 2 only

(e) 3only

(dd 1,2and 3

CYRF-F-TXLI (3—-A)
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As per the NSSO 70" Round “Situation

Assessment Survey of Agricultural
Households”, consider the following
statements :

1. Rajasthan has the highest percentage
share of agricultural households among
its rural households.

2. Out of the total agricultural households in
the country, a little over 60 percent belong
to OBCs.

3. In Kerala, a little ever 60 percent of
agricultural households reported to have
received maximum income from sources
other than agricultural activities.

Which of the statements given above is/are

correct ?

(a) 2and 3 only

(b) .2 only
(¢) Tand3only
€d) N1, 2 and 3

How is the National Green Tribunal (NGT)
different from the Central Pollution Control
Board (CPCB) ?

)9 The NGT has been established by an
Act whereas the CPCB has been created

by an executive order of the
Government.
2. The NGT provides environmental

justice and helps reduce the burden of
litigation in the higher courts whereas
the CPCB promotes cleanliness of
streams and wells, and aims to improve
the quality of air in the country.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and 2
(d) Neither 1 nor 2

www.jkchrome.com
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5. Consider the following statements :

1. The Parliament of India can place a
particular law in the Ninth Schedule of
the Constitution of India.

2, The validity of a law placed in the Ninth
Schedule cannot be examined by any
court and no judgement can be made on
it.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(¢) Both1and?2

(d) Neither 1 nor 2

6. Which one of the following best describes the 8
term “Merchant Discount Rate” sometimes
seen in news ?

(a) The incentive given by a bank to a
merchant for accepting payments
through debit cards pertaining to that
bank.

(b) The amount paid back by banks to their
customers when they use debit cards for
financial transactions for purchasing
goods or services.

(¢) The¢harge to a merchant by a bank for
accepting payments from his customers
through the bank’s debit cards.

(d) The incentive given by the Government
to merchants for promoting digital
payments by their customers through
Point of Sale (PoS) machines and debit
cards.

CYRF-F-TXLI (5-A)
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What is/are the consequence/consequences of
a country becoming the member of the
‘Nuclear Suppliers Group’ ?

1. It will have access to the latest and

most efficient nuclear technologies.

2. It automatically becomes a member of
“The Treaty on the Non-Proliferation of
Nuclear Weapons (NPT)”.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Both1land2
(d) Neither 1 nor 2

With reference to India’s decision to levy an
equalization tax of 6% on online
offered by
non-resident entities, which of the following

advertisement services

statements is/are correct ?

1. It is introduced as a part of the Income
Tax Act.

that  offer

in India can

2. Non-resident  entities
advertisement services
claim a tax credit in their home country
under the “Double Taxation Avoidance

Agreements”.

Select the correct answer using the code given

below :
(a) 1lonly
(b) . 2only

(¢) Both1and 2
(d) Neither 1 nor 2

www.jkchrome.com
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9. Consider the following statements : 11

1. The Fiscal Responsibility and Budget
Management (FRBM) Review
Committee Report has recommended a
debt to GDP ratio of 60% for the general
(combined) government by 2023,
comprising 40% for the Central
Government and 20% for the State
Governments.

2. The Central Government has domestic
liabilities of 21% of GDP as compared to
that of 49% of GDP of the State
Governments.

3. As per the Constitution of India, it is
mandatory for a State to take the
Central Government’s consent for
raising any loan if the former owes any
outstanding liabilities to the latter.

Which of the statements given above is/are 15

correct ? : i

(a) 1only

(b) 2 and 3 only

(¢) 1and3only

(d) 1,2and3

10. Consider the following statements :

1 The quantity of:imported edible oils is
more than the demestic production of
edible oils in the last five years.

2 The Government does not impose any
customs duty on all the imported edible
oils as a.gpecial case.

Which of the statements given above is/are

correct'?

(a) 1lonly

(b) 2only

(¢c) Both1land?2

(d) Neither 1 nor 2

CYRF-F-TXLI (7-A)
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He wrote biographies of Mazzini, Garibaldi,
Shivaji and Shrikrishna; stayed in America
for some time; and was also elected to the

Central Assembly. He was
(a) Aurobindo Ghosh
(b) Bipin Chandra Pal
(c) Lala Lajpat Rai

(d) Motilal Nehru

Consider the following statements :

B Aadhaar card can be used as a proof of

citizenship or domicile.

2, Once issued, Aadhaar number cannot be
deactivated or omitted by the Issuing
Authority.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

www.jkchrome.com
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13.

14.

15.
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13. Which of the following has/have shrunk
immensely/dried up in the recent past due to
human activities ?

1.  Aral Sea

2.  Black Sea

3.  Lake Baikal

Select the correct answer using the code given
below :

(a) 1only

(b) 2and3

(c) 2only

(d land3

14. “Rule of Law Index” is released by which of

the following ?

(a) Amnesty International

(b) International Court of Justice

(¢) The Office of UN Commissioner for
Human Rights ' :

(d) World Justice Project

15. Which one of the following links all the ATMs
in India ?
(a) Indian Banks’ Association
(b) National Securities Depository Limited
(c) National Payments Corporation of India
(d) Reserve Bank of India

CYRF-F-TXLI (9-

9 www.jkchrome.com
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Consider the following statements :

; Capital Adequacy Ratio (CAR) is the
amount that banks have to maintain in
the form of their own funds to offset

if the

any loss that banks incur

account-holders fail to repay dues.
2. CAR is decided by each individual bank.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2 only

(c) Bothland?2

(d).. Neither 1 nor 2

The identity platform ‘Aadhaar’ provides open
“Application Programming Interfaces (APIs)”.
What does it imply ?

1. It can be integrated into any electronic
device.

2. Online authentication using iris is
possible.

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

www.jkchrome.com



10 www.jkchrome.com

18. foogpa aw #, f=fafes d o fo 2w 4
ArEl AN AT d1 WIS TR Ud FHUer 9
yuifad gU, A1 Ih oA FOE F weld
I YEH % HRO Y 73 ?

(a) SWTIEAT 3R STfesma
(b) HIERI 3 S
(e) éﬁngaﬁtaﬁaﬁm
(d) I99 3R 3o geH

19. g o9 & @n d f=fafas § @ =938 $
TR ?

1. HEEdl IFeH FIET (WEH-3AUE) IE
H TS |

2. Tavafqenremi € w6 fawifa 6
TS |

3. Toram & ot wa@ W foregor wreaw & w9 4
st i Ry 1 18 |

= feu T e w1y woEE W g

(a) hael 1 31T 2

(b) had 2 3T 3

(¢) ohaet 1371 3

d 1,23MR3

20. WRd s THE % HeH ¥ F=faieg # 9 -5
TudE afafa sadhl Heian sidlg 3 geT @l
gfaa #ft 3 5 3t fFam, fam, su-fmam,
3u-fafer, anfe s =1 ofral afaum gra ves
2 I " g A 8 39T ShRITTRT g
3 T (SemeE) 6 oftfy % et 3R
TE B @ e 2
(a) TR AvaEAT gat afiufd
(b) 3ty faum we wfyfy
(c) Taam =fafy
(d) e garesr (faeme teaeed) afufy

CYRF-F-TXLI

10 www.jkchrome.com

www.jkchrome.com

21.

22,

(10-A)

www.jkchrome.com

ﬁﬂﬁﬁﬁﬁﬁﬁﬁQTﬁﬁﬁdm%Q:

1. foen &1 sfasr (3..3.) sfufem %
ER Tl U= 1 fres & w9 ° fgw
BH B M B ¥ oo fedt =fe d
Tefad TS oeAms fenm ufwg gw
fuffta =mam e &1 241 smaws 2 |

2. IRAZ. sFEm F gEr waltw
waren # e &g fordt et % fom
T e T ofteg, & feen-fdu
% FgEY fou o serrTe stEar gde &
3fivl BT IS R |

3. WA H 90% B AU v e geem
TeIE ® Y. H TS TR % 7 B |

IUgea Il 1A H-EVE T R 2

()1 372

(b) . Shad 2

(c) 133

(d) Hae 3

frafafiga 3w w fa=m $ifsw
RERT T

1. 99N $T AR — fasia

2. @iMaY wer marfa —  HiTg

3. 9T — fafesn

Iuded gt | ¥ wE-GUE TE gafad 872 2

(a) %o 1

(b) 1377 2

(c) aa 3

(d 233

www.jkchrome.com

www.jkchrome.com



11 www.jkchrome.com

18.

19.

20.

CYRF-F-TXLI

11 www.jkchrome.com

Very recently, in which of the following
countries have lakhs of people either suffered
from severe famine/acute malnutrition or died

due to starvation caused by war/ethnic
conflicts ?

(a)
(b)

Angola and Zambia
Morocco and Tunisia
(¢) Venezuela and Colombia

(d) Yemen and South Sudan

Regarding Wood’s Dispatch, which of the
following statements are true ?

1. Grants-in-Aid system was introduced.

2. Establishment of

recommended.

universities was

3. English as a medium of instruction at all
levels of education was recommended.

Select the correct answer using the code given

below :

(a) 1and 2only

(b) 2and 3only.

(¢) 1and 3only

(d 1,2and3

With reference to the Parliament of India,
which of the
Committees scrutinizes. and reports to the
whether make
regulations, rules, sub-rules, by-laws, etc.
conferred by the Constitution or delegated by

the Parliament are being properly exercised

following . Parliamentary

House the powers to

by theuExecutive within the scope of such
delegation ?

(2)
(b)
(¢) Rules Committee
(d)

Committee on Government Assurances

Committee on Subordinate Legislation

Business Advisory Committee

www.jkchrome.com
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Consider the following statements :

5 As per the Right to Education (RTE)
Act, to be eligible for appointment as a
teacher in a State, a person would be

the

qualification laid down by the concerned

State Council of Teacher Education.

required to possess minimum

2 As per the RTE Act,
primary classes, a candidate is required
to pass Eligibility Test
conducted in _aeccordance with the
National Council of Teacher Education

for teaching

a Teacher

guidelines:

8. In India, more than 90% of teacher
eduication institutions are directly under
theState Governments.

Whigh of the statements given above is/are
correct 7

(a) land?2
(b) 2 only
(¢) land3
(d) 3only

Consider the following pairs :

Tradition State
1. Chapchar Kut festival — .Mizoram
2.  Khongjom Parba ballad — Manipur
3. Thang_—Ta dance — Sikkim

Which of the pairs given above is/are correct ?

(a) 1lonly
(b) 1land?2
(¢) 3only
(d) 2and3

www.jkchrome.com



12 www.jkchrome.com

23.

24.

CYRF-F-TXLI

12 www.jkchrome.com

f=fafign o w famm hifsw

1. W™ gan wd Aee aFfufEm, 2006
g iz Fi Jewam (Kewe 11 g
Ueeety) fufam, 1954+ wfeeenfya
femam |

2. W™ W g Td A SIS (58
TR we Wuedy AR A% 3fe)
(TRUH.TE.UIE.) HHE WA T
IR HeAwl TAGT H WRed T

TRTCYS % AR A 2 |
I9gF FUA § F DAV T R 2
(a) Had 1
(b) W 2
(0) 13 23

(d ddA 1,382

®flwfl e H Sfeafed 93 “gwe
Ao feraeht afafafir & wey # amar @ 2

(a) =M
(b) SISt
(c) Sk

(d) I84

www.jkchrome.com

25.

26.

27.

(12-A)

www.jkchrome.com

U @ gren stfufam, 2018 & g s
U Uyl &% gy °, Fefefad suet w fiEw
Hife

1. %o 9 & IRER gerar g @ o
& UEEr wEd & W “ofet a8 97
(sft.oft.us. ) soft & s1a &

2. ufEm # 18 9% 77 3ud fies 39 i waw
aifas 3w areft wigen & wym &€ ffa
gqﬁaﬁ%mﬁcrﬁaﬂwgf@m

1

3. miadl Afgemd wa fooe areft grand
TafaEdr % ERH Igh B: HEM «IE
% gfafeT 1600 S @ TE W o
ST T EHaE

IRF FUHI  H B TE R 2

(a) 132

(b) et 2

(c) .13M.3

(d) <haet 3

Iq § A1 & wiiferes dha (e ok

o) srfatem, 1999 Wi Fefefes & 4

forad dafoa Rl & ouem % fow @

foram T 2
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23. Consider the following statements : 25. With reference to the provisions made under
the National Food Security Act, 2013,
1. The Food Safety and Standards Act, consider the following statements :
: 1. The families coming under the category
2006 replaced the Prevention of Food of below poverty line (BPLY only are
Adulteration Act, 1954. eligible to receive subsidised food
' grains.
9.  The Food Safety and Standards 2. . The eldest woman in a household, of age
) 1 18 years or above, shall be the head of
Authority of India (FSSAI) is under the the household for the purpose of
issuance of a ration card:
charge of Director General of Health 3.  Pregnant women and'lactating mothers
Services in the Union Ministry of are entitled to a ‘“take-home ration’ of
1600 calories per day during pregnancy
Health and Family Welfare. and for six months thereafter.
Which of the statements given above is/are
Which of the statements given above is/are correct ?
(a) land2
correct ?
(b) 2only
(a) 1only (¢)) Tand3
(d) 3 only
(b) 2only"
26. India enacted The Geographical Indications of
(¢) Both 1and?2 Goods (Registration and Protection) Act, 1999
in order to comply with the obligations to
(d) Neither 1 nor 2 (a) ILO
(b) IMF
(¢) UNCTAD
(d WTO
‘ 27. Consider the following statements :
24. The term “two-statevsolution” is sometimes 1. In India, State Governments do not
have the power to auction non-coal
mentioned in the news in the context of the mines.
affairs of 2.  Andhra Pradesh and Jharkhand do not
have gold mines.
(an. BORD 3. Rajasthan has iron ore mines.
Which of the statements given above is/are
(b) Israel correct ?
(a) land2
(e) Iraq (b) 2only
(¢) land3
{d) Yemen (d) 3 Ol'lly
CYRF-F-TXLI (13-A)
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29.

30.
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28. With reference to digital payments, consider | 31, Regarding Money Bill, which of the following
the following statements : stalanioits i mok GoEteet 2
1. BHIM app allows the user to transfer (a) A bill shall be deemed to be a Money

to an ith a UPI-enabled s s 8 ; o
TR 3P [ SOFOTRWI B Bill if it contains only provisions

bank account. ) T i =
relating to  imposition, abolition,

2. While a chip-pin debit card has four
factors of authentication, BHIM app has

remission, alteration or regulation of

any tax.
only two factors of authentication.
(b) A Money Bill has/proyisions for the

; . g .
Which of the statements given above is/are custody of the#GonSolidated Fund of

correct ?

India or the Contingency Fund of India.
(a) 1lonl .
: o (¢) A Money Bill is concerned with the
(b) 2only appropriation of moneys out of the
(¢) Both1land?2 Contingency Fund of India.
(d) Neither 1 nor 2 (d) » A Money Bill deals with the regulation

of borrowing of money or giving of any

guarantee by the Government of India.
29. Among the following cities, which one lies on
a longitude closest to that of Delhi 7

82. With reference to the election of the President
(a) Bengaluru

(b) Hyderabad of India, consider the following statements :
yderaba

1. The value of the vote of each MLA

(¢) Nagpur
varies from State to State.
(d) Pune
2. The value of the vote of MPs of the
Lok Sabha is more than the value of the
30. International Labour Organization’s

) vote of MPs of the Rajya Sabha.
Conventions:138 and 182 are related to

Which of the statements given above is/are
(a),. Child labour

_ correct ?
(b) Adaptation of agricultural practices to
: (a) 1only
global climate change
(b) 2 only

(c) Regulation of food prices and food

Security (C} Bot].'l 1 and 2

(d) Neither 1 nor 2

(d) Gender parity at the workplace
CYRF-F-TXLI (15-A)
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33, WA % ®e ¥ ‘eladiedy wm wei woid
(FRuin) F ‘i TR (v
SICIRT)” &1 STEme e @ e 1 2 2
(2) @f® wmp fiww smwuiu %

T % e 3 9 2

b dfw v afrem smuiun H
leqor & arefiq 3o &

(@ W % ww ekl qffeal o
(Wuwmst) & fham F w=m
fersraTferspr &1 s |

(d) T TEA: U0 A, T HEE o A R |

34. Tfafga i w fomm Hifvm .

1. e

2. TSl

3. =M=

4. YRE

5. WUH

6. J.UET,

ST | ¥ HiH-HH SEAH (LHLTE.) F

U6 AT MfieRl | d 2

(a) 1,243 5

(b) 3,4,5 36

(¢ 1,345

(d 2,3,43N6
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off |
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i feu T e 1 ET A wdl s gh

(a) ohaeT 1 3R 2

(b) <had 3

(c) chadl 23K 3

(d 1,233
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33. In the Indian context, what is the implication
of ratifying the ‘Additional Protocol’ with the
‘International Atomic Energy Agency
(IAEA) ?

(a) The civilian nuclear reactors come
under IAEA safeguards.

(b) The military nuclear installations come
under the inspection of IAEA.

(¢) The country will have the privilege to
buy wuranium from the Nuclear
Suppliers Group (NSG).

(d) The country automatically becomes a
member of the NSG.

34. Consider the following countries :

1. Australia

2. Canada

3. China

4. India

5. Japan

6. USA

Which of the above are among the ‘free-trade

partners’ of ASEAN ?

(a) 1,2,4and5

(b) 3,4,5and6

(e) 1,3,4and5b

(d) 2,3,4and6

CYRF-F-TXLI
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With reference to the ‘Global Alliance for
Climate-Smart Agriculture (GACSA)’, which

of the following statements is/are correct ?

i GACSA is an outcome of the Climate
Summit held in Paris in 2015.

2. Membership of GACSA does not create
any binding obligations.

3. India was instrumental in the creation
of GACSA.

Select the correct answer using the code given

below :

(a) 1and 3only
(b) 2only

(¢). 2and 3 only
(d 1,2and3

86, Which of the folIoWing is/are the aim/aims of

(17-A)

www.jkchrome.com

“Digital India” Plan of the Government of

India ?

5 Formation of India’s own Internet
companies like China did.

2. Establish a policy framework to
encourage  overseas  multinational
corporations that collect Big Data to
build their large data centres within our
national geographical boundaries.

3. Connect many of our villages to the
Internet and bring Wi-Fi to many of our
schools, public places and major tourist
centres.

Select the correct answer using the code given
below :

(a) 1and 2only

(b) 3 only
(¢) 2and 3only
(d 1,2and3
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37. ﬁﬂ%@ﬁ@ﬁwﬁaﬂ@ﬁq 40.
FY-5Y] garant ot/
7 3feealEa gt
1. 3wl —  difEn
2. g — T
3. HEH —  Tofa=fim
4. THER-UIAE —  THIEH
Ifad Wi 4 | H-9 gdl gifea § 2
(a) 13K 2
41.
(b) 134
() 233
d) 334
38. WRAM wmEA fYufEm, 1935 % g wnfug @9
q rafire wftrat e & 2 off 2
(a) W fAumM-AvES i
(b) T T i
(¢) i faumsves i
(d) ST TS=IITAT
42,
39. Tr=fefga s w fomm Hifsw .
1. faum gar s sey, o fym o
FI/h! HGHT € Tgal BAEAR @ 9T g
T et 2m/ettay
2. & i foum w1 feea foran wmar @
dl o, 9 9T B g b w43,
am/at |
I9dad Byl H § HH-A/A T 2E 2
(a) <hael 1
(b) HadA 2
(e) laﬂ'(2aﬁ,
(d T 1,78 2
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87. Consider the following pairs : 40.
Towns sometimes Country
mentioned in news

1. Aleppo —  Syria

2. Kirkuk —  Yemen

3. Mosul —  Palestine

4.  Mazar-i-sharif —  Afghanistan

Which of the pairs given above are correctly

matched ?

(a) 1land2

() 1land4 .

(¢) 2and3

(d) 3and4

88. In the Federation established by The

Government of India Act of 1935, residuary

powers were given to the

(a) Federal Legislature

(b) Governor General

(¢) Provincial Legislature

(d) Provincial Governors

39. Consider the following statements : 492,

1. The Speaker of «the Legislative
Assembly shall vacate his/her office if
he/she ceases to be a.member of the
Assembly.

2.  Whenever the Legislative Assembly is
dissolved, ‘the Speaker shall vacate
his/her office immediately. 43.

Which of ‘the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Bothland?2

(d) Neither 1 nor 2

CYRF-F-TXLI (19-A)
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Which one of the following reflects the most

appropriate relationship between law and

liberty ?

(a) If there are more laws, there is less
liberty.

(b) Ifthere are no laws, there is no liberty.

(¢) If there is liberty, laws have to be made
by the people.

(d) If laws are changed too often, liberty is

in danger.

Consider the following statements :

1. No criminal 'proceedings shall be
instituted against the Governor of a State
in any court during his term of office.

9. The emoluments and allowances of the
Governor of a State shall not be
diminished during his term of office.

Which of the statements given above is/are
correct?

(a 1lonly

(b) ° 2only

(c) Both1and?2

(d) Neither 1 nor 2

The well-known painting “Bani Thani”
belongs to the

(a) Bundi school

(b)  Jaipur school

(¢) Kangra school

(d) Kishangarh school

What is “Terminal High Altitude Area

Defense (THAAD)”, sometimes seen in the

news ?

(a) An Israeli radar system

(b) India’s
programme

indigenous anti-missile

(¢) An American anti-missile system

(d) A defence collaboration between Japan
and South Korea
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44.

45.
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44. With reference to cultural history of India, | 46,
~ consider the following statements :
1. Most of the Tyagaraja Kritis are
devotional songs in praise of Lord
Krishna.
2. Tyagaraja created several new ragas.
3. Annamacharya and Tyagaraja are
contemporaries.
4. Annamacharya kirtanas are devotional
songs in praise of Lord Venkateshwara.
Which of the statements given above are
correct ?
(a) 1land3only
(b) 2and4only 47.
(¢) 1,2and3
(d 2,3and4
45. - Which of the following are regarded as the
main features of the “Rule of Law” ?
1. Limitation of powers
2. Equality before law
a. People’s responsibility " to the
Government 48.
4.  Liberty andcivil rights
Selectithe correct answer using the code given
below:.:
(a) 1and3only
(b) 2and4 only
(¢) 1,2and4only
(d 1,2,3and4
CYRF-F-TXLI (21-A)
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Which one of the

correctly describes the meaning of legal

following statements

tender money ?

(a)

The money which is tendered in courts
of law to defray the fee of legal cases

(b) The money which a creditor is under

compulsion to accept in settlement of
his claims

(¢c) The bank money in the form of cheques,
drafts, bills of exchange, etc.

(d) The metallic mone-y in circulation in a

country

If a commodity is provided free to the publie
by the Government, then

(a)
(b)

the opportunity cost is zero.
the opportunity cost is ignored.

(¢) the opportunity cost is transferred from
the consumers of the product to the
tax-paying public.

(d) the opportunity cost is transferred from

the consumers of the product to the
Government.

Increase in absolute and per capita real GNP
do not connote a higher level of economic

development, if

(a)

industrial output fails to keep pace with
agricultural output.

(b) agricultural output fails to keep pace

with industrial output.
(¢) poverty and unemployment increase.

(d) imports grow faster than exports.
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49.

50.

51.
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49. Consider the following statements : 52.
Human capital formation as a concept is
better explained in terms of a process which
enables
1 individuals of a country to accumulate

more capital.

2. increasing the knowledge, skill levels
and capacities of the people of the
country.

3. accumulation of tangible wealth.

4. accumulation of intangible wealth.

Which of the statements given above is/are

correct ? 53.

(a) land?2

(b) 2only

(¢) 2and4

(d) 1,3and4

50. Despite being a high saving economy, capital
formation may neot result in significant
increase in output due to
(a) weak administrative machinery
(b) illiteracy
(¢)  high population density
(d) high capital-output ratio

51. After the Santhal Uprising subsided, what 54.
was/were the measure/measures taken by the
colonial government ?

1. The  territories called  ‘Santhal
Paraganas’ were created.

2. It (became illegal for a Santhal to
transfer land to a non-Santhal. _

Seleet the correct answer using the code given

below :

(a) 1only

(b) 2 only

(c) Both1land2

(d) Neither 1 nor 2

CYRF-F-TXLI (23-A)
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Economically, one of the results of the British
rule in India in the 19t century was the

(a) increase in the of Indian

handicrafts

export

(b) growth in the number of Indian owned
factories

(e) commercialization of Indian agriculture

(d) rapid increase in the urban population

If the President of India exercises his power
356 of the
Constitution in respect of a particular State,
then

as provided under. Article

(a) the < Assembly of the

automatically dissolved.

State is

(b) . the powers of the Legislature of that
State shall be exercisable by or under
the authority of the Parliament.

(e) Article 19 is suspended in that State.

(d) the President can make laws relating to
that State.

Consider the following pairs :

Craft Heritage of
1.  Puthukkulishawls —— Tamil Nadu
2. Sujni embroidery — Maharashtra

3. Uppada Jamdani saris — Karnataka

Which of the pairs given above is/are correct ?

(a) 1lonly
(b) 1and?2
(¢) 3only
(d) 2and3
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GPS i o1 39anT fA=fearfiad 4 & s &5
o8 ghar g ?

1. HiEEd BH Y9

2. S =T

3. uiat furst =+ fmo

(a) HIA 1

(b) A 2 37 3

(¢) ohaet 1311 3

(d 1,23W3

frefafeas Feuai w faar Fifsu .

1. Wi fied %, 9ra sen S afayfat
®1 YEYA 3R WAISH T 3 fh foeeh
T TR hi fayfai 1 78 |

2. HWA FERR HIY-9 (ufl foet) S e
2 3R U9 TR $I3 Y97 T T8
Al |

3. WIY-9F AR JUH FUG & 9 S
feru < & | =

ITF A § ° B/ FE R 0

(a) a1 3N 2

(b) Hae 3

(c) had 231 3

(d 1,233

freafafaa woi w fomm Hifse .

1. Yl 1 Jreh &F B FO E e9n Al
T IHA BT § |

2. YAl 9§ 4000 =nt & o sAfeen
98 o1, di SIS 549 ot 3T wEe
STRATHYISE ol ot |

3. v Sifam Se T gu, @R gm=h %
AP FgAvSH $| see o |

39 U1 4 & HH-VE TE 23 2

(a) hde 1

(b) had 231 3

(c) <hadl 131 3

(d 1,233
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T, UeA IR geere 9 S B & d
el 4 3fgfaa 9, feafafas § @ o
1Y gefed & ?

(a) m‘ﬂ%{"{ﬂ
(b) =4 g1 (Toreaepie)
(c) HISET JATHHAT

(d) Y 39Uz

ol Hf # ol % ded §, e
F” 6 Hpewe B TEd W Sl B |
Frfafga 8§ 8 m-sa 8§ dwo s % sata
I 82

1, Thu HY ygfaai &1 ufEn

2. AW S Bl AGHAMT

3.  SWIHI %Eel i et w1 IiER

4. WG UUTA Wl A b [0 BHA HaAfe
=T ITFA

5. TI® wd Fifcth BHA ASHHI/EE
S Bl ST

f= fou T e 1 W o wd s g

(@) 1,3 37N 4

(b) 2,3,43M 5

() 2,435

(d 1,2,33W5
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55. In which of the following areas can GPS | 58,
technology be used ?

1. Mobile phone operations

2. Banking operations

3. Controlling the power grids

Select the correct answer using the code given

below :

(a) 1only

(b) 2and 3 only

{c) 1and 3 oniy

(d 1,2and3

'56. Consider the following statements :

& The Reserve Bank of India manages and
services Government of India Securities
but not any State Government 59.
Securities.

2. Treasury bills are issued by the
Government of India and there are no
treasury bills issued by the State
Governments.

3.  Treasury bills offer are issued at a
discount from the par value.

Which of the statements given above is/are

correct 7

(a) 1land 2only

(b) 3 only

(¢) 2and 3only

(d 1,2and3

57. Consider the following statements :

1.  The Earth’s magnetic field has reversed
every few hundred.thousand years.

2. When the Earth.was created more than
4000 millien years ago, there was 54%
oxygen.and no carbon dioxide.

3. When living organisms originated, they
modified the early atmosphere of the
Farth.

Which of the statements given above is/are

correct 7

(a) 1only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3
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The
EternalBlue’

terms ‘WannaCry, Petya and

sometimes mentioned in the

news recently are related to
(a) Exoplanets

(b)  Cryptocurrency

(e) Cyber attacks

(d) Mini satellites

With reference to the circumstances in Indian
agriculture, the concept of “Conservation
Agriculture” assumes significance. Which of
the ‘following fall under the Conservation
Agriculture ?

1% Avoiding the monoculture practices
2. Adopting minimum tillage

3. Avoiding the cultivation of plantation

crops
4. Using crop residues to cover soil surface

5.  Adopting spatial and temporal crop

sequencing/crop rotations

Select the correct answer using the code given

below :

(a) 1,3and 4
(b) 2,3,4and5b
(¢} 2,4and5b

(d). 1,2,3and 5
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“@a1 = o /ger faea” a8 wee fepeeht
foe=am & weyd o wymm § ymr 3fgfea e
g?

(a) fova % wga & wrii § ¥ § =39 &9 d
THY HN YA AR ¥ WJH W
aifofsess $fY & w1 W & e
T & funHeeEy e oufi uiiids @
BT |

(b) e wiess § gzt & @iy Ieehifuvg i
gyTfaa TRt 1 v, S % 65 fafaam
I TES §I o1 3R 9wk W0 grEHER
1 Sfadl THa 3F Afedi o1 sqHH &9
¥ foetra & T |

() Tawa & avis vt & engafiepa, ®9wiE
®IAl Sl =TH w9 H @l fava
T WET B OSTR @l %l serEr &,
fSms wro s et wEefl 9eul @
foeit &1 wear & 3w Sa-fafayar
B1 & Tt 7 |

(d) HAHE © gU  URpfaw  FEIEET
Hfeyo/geum, WiHfas @m0
Hferrsi/AT, s 1 fommn, wguor i
Ifeee ey e |
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AR &Ea-Eare 3ug gorrelt (3feaw deoma
Aferise deamse fakew /IRNSS) & #Hed #,
Fafafia wuat w foamm $ifsu .

1. IRNSS % gousre (FSrmesmd) sensti
i dd IwE I ygeusmeld
(Ffesmier) semsti § =1 39wE 2 |

2. IRNSS i =iftq wequl wRd o 3K s@ehl
sl & w9 5500 SRR T T
2

3. 2019 F WA dF WEALHl, [ AfvEsw
siftd o A1 AGH I G T
&t |

ITYFI HYALH H AT/ TE R 2

(a) shaw1

(b)" a1 3 2

(¢)h. haeT 2 3R 3

@ s TE

ﬁtr%f@atrﬁazmﬁmﬁaﬂaﬁrﬁm

1. SehI9l, o GRI YHIfed BT & |

2.  SEUE AR el @12 |

3. g 9 =W N F Reeprar w1 fapfa
(amd) i 7 |

ST H U Uead SR % IMdfaehdl %
am= fag=d w7 vioseed sRaa 2R,
foreehy/fomehT wr: gmmem aremi 8 s g
&

(a) <had 13 2

(b) a3

(¢) “haeT 1311 3

(d) 1,233
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The term “sixth mass extinction/sixth
extinection” is often mentioned in the news in

the context of the discussion of

(a) Widespread monoculture practices in
agriculture and large-scale commercial
farming with indiscriminate use of

chemicals in many parts of the world

that may result in the loss of good

native ecosystems.

(b) Fears of a possible collision of a
meteorite with the Earth in the near
future in the manner it happened
65 million years ago that caused the
mass extinction

of many species

including those of dinosaurs.

(¢c) Large scale cultivation of genetically
modified crops in many parts ef the
world and promoting their eultivation in
other parts of the world which may
cause the disappearance of good native
crop plants and the loss of food

biodiversity.

(d) “Mankind’s over-exploitation/misuse of
natural resources, fragmentation/loss of
natural  habitats, destruction of
ecosystems, pollution and global climate

change.
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With reference to the
Navigation  Satellite
consider the following statements :

Indian Regional

System  (IRNSS),

IRNSS has three satellites in
geostationary and four satellites in

geosynchronous orbits.

2. IRNSS covers entire India and about
5500 sq. km beyond its borders.

3. India will have its ewn satellite
navigation system. with full
coverage by the middle of 2019.

global

Which of the statements given above is/are
correct ?

(a) 1 only
(b)..' 1 and 2 only
(¢). 2and 3 only

None

(d)

Consider the following phenomena :

L. Light is affected by gravity.

2. The Universe is constantly expanding.

3. Matter warps its  surrounding
space-time.

Which of the above is/are the

prediction/predictions of Albert Einstein’s
General Theory of Relativity, often discussed
in media ?

(a) 1and2only
(b) 3 only

(¢) 1and 3only
(d 1,2and3
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qid 4 fowfea  orafieha: ®viaha @@l

(SHfewett wifewze aw@i / GM awE@l) % o

#H, frafefga st gt fomm hifs

1. GM 9@ § g1 e & T 21 # S
q1ey W1 I fheEl & figwl & fowg
frgeh-gferiier =1 o1 24 |

2. GM @ ¥ § fiF 89 & S uyey #
GL-YTATOT 3R HHUT bl Gt A1 & |

3. GM HW@l %1 fohm IARI 3R wome Hfy

favafaeme grr w3 w9 & o m 2
Iuded HYAT § ¥ BH-A1A Tt ¥ 2
(a) had 1371 3
(b) had 2
(c) <had 23R 3
(d 1,233

frefefen i o fomm Hifsm .

7 371 T "
1. S IR — tmalg
2. sATHaA Wenfiehl | — fefSea/fpe gar
3. CRISPR-Cas9 — w1 wifeeh
SHFd g1 § § HH-A/E T gafera 878 2
(a) <haed 137 3
(b) A 2
(c) “had 237 3

d 1,23R3
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Fefafga o=t § ¥ wEE “FEa e

(epTei BieaTgely ) 1 Geiivw afifd star 8 2

(a) TEATSH H e SBAFAEE H TG BE
i 3 FR1 ) g e 37

(b) STYAVSH H HEA SEIATAEISS hl a7
QIgdT o HR0 geafl 1 91 53T q9HH

(c) dATYHUSH ¥ HeH SEATHEE FH TE TS
Higdl & GRSy SRR 6 T g
3T

(d) dgHUEH H FHeH SEHAGEES HI TE T
Higdl & g g siear) giads % 3Eq
geeft o ot SfaETiEr & sggeH

9 a8 Ah T B F1 A T 2, dl
39 33 A B 303 # 52 FE & foru =@
Ul 2o & ToE sres i e & = e
B | B9 TR § & |91 g9 fa % Hey
! g 8 3 ekl Faft T H 9 F =W
1 ¥l Teha qaT B | 1§ 319 TAwAT 9 % fog
9 WX ¥ 8 forumrame e o 2,
I8 35 Yeiia G § H1$ S &l SH o
3R Tt TRt < gfd & foag samew @
A 2 | 99 39 B H W8 e Wad 8 3K
AN W A o 8, o @t afEi, b9,
e 3R T.Ht. aefid @a: 5 81 St 8 | 3T
FETET & T W, HTH SR A0 A0 e
JrarTd 6t i F IR H 7w AqreHt ool 2
3 Infcys T H1 goE ot B, I Il
st fFet do & fau &t @ B, @1 =&
3T IER A HIETad § Ty U a1 & |
3 ITfad Bl g3 H9R SEnneRat % 'ey b,
I aigea & fou f=fafas 9§ @ #9a@ 7
o 39Yh €9 ¥ TR AT & ?

(a) WISt TIed Sieihid

(b) $etie AT form

(c) TTERT Wieishicl

(d) FHI FAe Heah
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63. With reference to the Genetically Modified | 65.
mustard (GM mustard) developed in India,
consider the following statements :

1. GM mustard has the genes of a soil
bacterium that give the plant the
property of pest-resistance to a wide
variety of pests.

2. GM mustard has the genes that allow
the plant cross-pollination and
hybridization.

3. GM mustard has been developed jointly
by the IARI and Punjab Agricultural
University.

Which of the statements given above is/are

corréct ?

(a) 1and 3only 66.

(b) 2only

(¢) 2and3only

(d 1,2and3

64. Consider the following pairs :

Terms sometimes Context / Topic
seen in news

1. Bellell — o Artificial
experiment Intelligence

2. Blockchain — Digital/
technology Cryptocurrency

3. CRISPR —Cas9 — Particle

Physics

Whigh of the pairs given above is/are correctly

matched ?

(a) 1and3only

(b) 2 only

(¢) 2and 3 only

(d 1,2and3
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Which
describes “carbon fertilization” ?
(a)

of the following statements best

Increased plant growth due to increased
concentration of carbon dioxide in the

atmosphere

(b) Increased temperature of Earth due to
increased concentration of carbon
dioxide in the atmosphere

{nh Tnoavroaand sdite af arnaneng o rogir I+ Af

AL A1t LOosu ﬂ.l.:lulh-" WAL VUGOUCALERSY €l A L LT uilu v
increased concentration of carbon
dioxide in the atmosphere

(d) Adaptation of all'living beings on Earth

to the climate change brought about by
the increased coneentration of carbon
dioxide in the atmosphere

When the alarm of your smartphone rings in
the morning, vou wake up and tap it to stop
the alarm> which causes your geyser to be
switched on automatically. The smart mirror
in yvour bathroom shows the day’s weather
and also indicates the level of water in your
overhead tank. After you take some groceries
from your refrigerator for making breakfast, it
recognises the shortage of stock in it and
places an order for the supply of fresh grocery
items. When you step out of your house and
lock the door, all lights, fans, geysers and AC
machines get switched off automatically. On
your way to office, your car warns you about
traffic congestion ahead and suggests an
alternative route, and if you are late for a
meeting, it sends a message to your office
accordingly.

In the context of emerging communication
technologies, which one of the following terms
best applies to the above scenario ?

(a) Border Gateway Protocol

(b) Internet of Things
(e) Internet Protocol
(d)

Virtual Private Network
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Id H §R Sl 3c41ed & "ey #, fi9 few mu

$eAl | fommr Hifdw .

1. YRd YhN-Acdd SHEdl § Y9 H M
et fofermia awd 1 g & ffe ged
ST IUTEH ¢ 8 |

2. HR o Yo 1 Fuier yReE @1 S
T & gro fosan san 2

IR HUHT H © hH-A/E FE R 2
(a) $ao 1

(b) Had 2

(¢) 13 23M

(d FALIE2

1891 wrared] % weA sfow $ sfeam st &
g sme @ fEifia sgE gvaued (Rud
FHTST) F1 & ?

(a) W&%W,ﬁlﬁ'ﬁ@?@'ﬁﬂ

(b) =1, THek, STET 3R HiE __

(c) ﬁm,ﬁa,m,mﬁaﬂxm

(d) =, T, I AR FARH

frafafga ¥ @ #l- &6 IR g =wE @

fq AEEYYl 98e 2.2

(a) UTH ofgod H 3fegd W™ & ®
Aftrammetl, fenfdai it afgensti &
Hisha gauTiivar

(b) UER AMGeH H WRA & qfdd 3K
amfearst TgerEt i afsea arierd

(¢) YRd % TP HAGoH § fra™ rEam =1
gfoiferd gAn

(d) Wwﬁwmﬁﬁm@ﬁﬁ@?ﬁﬁ
T fee
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71.

72.

(30-A)
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T’ & TEITF 9 2
(a) . o1 figs, sUi.wm. TERERaE R
&€, ST

(b) SEAYH TAREV, dH TS YA K
TH.UH. U9

() .. THRET I, F. FEOE AR
fitarfer™ gy

(d) ST HEal, .0E. WS 3 S,
e

"Rd i affer yenen & mew W “cumearht”
e ey fHEd § 2

(a) diig Wa

(B S 5d

(¢) WG 7

(d) 9T

AT % Hhias s & =y o, Fefafad
wﬁmﬁanﬂﬁq:

1. HaeR Hied @ geg c@m aun
WHHE & HEi7 3§ dhe S &1 Y=
g3 AT |

2. WETS (q 99 HWaTST R w9 i gtam
% fmfor & enet-sgen eer 3t Em

1 FAN g AT |
39 el § | hH-H/E HEl 8/8 ?
(a) had 1
(b) I 2
() 13K 27gH
d F@1LAL2
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67. With reference to solar power production in | 70. Who among the following were the founders of
India, consider the following statements : the “Hind Mazdoor Sabha” established in
E, India is the third largest in the world in 1948 ?
the manufacture of silicon wafers used (a) B. Krishna Pillai, E.M.S.
in photovoltaic units. Namboodiripad and K.C. George
2.  The solar power tariffs are determined (b) Jayaprakash Narayan, Deen Dayal
by the Solar Energy Corporation of Upadhyay and M.N. Roy
India. (¢) C.P. Ramaswamy Iyer, Ko Kamaraj and
Which of the statements given above is/are Veeresalingam Pantulu
correct ? (d) Ashok Mehta, T.S. Ramanujam and
(a) 1only G.G. Mehta
(b) 2only
(¢) Both1land2
(d)  Neither 1 nor 2 71. With reference to.the religious practices in
India, the “Sthanakvasi” sect belongs to
(a)- Buddhism
68. The staple commodities of export by the
English East India Company from Bengal in (b}, Jainism
the middle of the 18th century were (¢) Vaishnavism
(a) Raw cotton, oil-seeds and opium (d) Shaivism
(b)  Sugar, salt, zinc and lead
(¢)  Copper, silver, gold, spices and tea
(d)  Cotton, silk, saltpetre and opium 72. With reference to the cultural history of India,
consider the following statements :
1. White marble was used in making
69. Which one of the following i8 a very Buland Darwaza and Khankah at
significant aspect ‘of. the Champaran Fatehpur Sikri.
Satyagrahs ¢ 2.  Red sandstone and marble were used in
(a) Active all-India particip-ation of lawyers, making Bara Imambara and Rumi
studentshand women in the National
Masertnt Darwaza at Lucknow.
(b) “Aetive involvement of Dalit and Tribal Which of the statements given above is/are
communities of India in the National correct ?
Movement (a) 1only
(e) iﬁgﬁg&]ﬁ 0‘1::2::1;!: unrest to India’s ® 2 only
(d) Drastic decrease in the cultivation of (¢)  Both1and2
plantation crops and commercial crops (d) Neither 1 nor 2
CYRF-F-TXLI (31-A)
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73. Trefafiea faesh anfai 4 @ fFme v & €1 | 76
3 B il weHt H fowga 9 @ ==1 i 2
(a) T STaT
(b “Hi-dfew dafim
(¢) 1 T gaq
(d) U FIUEHT FR
74. WA sfagm & @ #, frafafea & @ #69 s
vt g B, S Ew I @ &g EAtd 2 2 '
(a) AR
(b) cThval
(¢) HI™
(d) wEHTIT 78.
75. TS dcisTell GRI S hi TS Hewh it s
% = # fafafes 4 s $u= oy 757
& ?
(a) T %99 T S TG HA1 SHC T
(b) Tl 4oz < ol & gifera w@
(¢) YA & U s FEa @ &1 TTY
I
d) weE fama $ I e oo
T T
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frfafea & @ froa/fem v 3 st e
6 Hffa 7t 2

1. 1813 @I 91X U

9. ST Sl 31Th fecisr sga, 1823
3. YreAfag e raEfag faang

H= fou Mo e F1 = W EE I gAY
(a) <hael 13N 2

(b) e 2

(¢) <hadl 131 3

d 1,231 3

frfafiga @ @ s w sEm efia 2 2
(a) HISEPATE (dAHd A7)

(b). FTHE (AT )

(0) ae (FTEs)

(@ Yo (femr=er wew)

gy Wt wive fTem I % oawd 1§,

Trefafied wua w fo=m $ifso .

1. I8 49 U9 UYSIR HATed hi wrismg &hiy
2

9. ¥R, ¥ IS & wyEy, @i f&ha,
smgfy, fafm o fefrea wmemar 4 +fi
yfSteror Iuetey U |

3. 48 < % FfefEfm wEsa @i
SEAFIAIHT I TFE B Araar gra
(Avel fepe @arfafbhe Hash) &
oy Sre |

I HUE W RE-A/A GE 2/E 2

(a) <hael 137 3

(b) <had 2

(¢) Had 23 3

@ 1,233
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73. Which one of the following foreign travellers | 76.
elaborately discussed about diamonds and
diamond mines of India ?

(a) Francois Bernier
(b) Jean-Baptiste Tavernier
(¢) dJean de Thevenot
(d)  Abbe Barthelemy Carre

74. With reference to Indian history, who among
the following is a future Buddha, yet to come | 77.
to save the world ?

(a)  Avalokiteshvara

(b) Lokesvara

(¢) Maitreya

(d) Padmapani -

75. Which one of the following ‘statements does
not apply to the system of Subsidiary Alliance
introduced by Lord Wellesley ?

(a) To maintain a large standing army at
other’s.expense

(b) To keep India safe from Napoleonic
danger

(¢) To secure a fixed income for the
Company

(d) To establish British paramountcy over
the Indian States

CYRF-F-TXLI (33-A)
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Which of the following led to the introduction
of English Education in India ?

1. Charter Act of 1813

2. General Committee of Public Instruction,
1823

3. Orientalist and Anglicist Controversy

Select the correct answer using the code given
below :

(a) 1and2only

(b) 2only
(¢) 1and 3 only
(d 1,2and3

Which one of the following is an artificial
lake ?

(a) /Kedaikanal (Tamil Nadu)

(b) " Kolleru (Andhra Pradesh)

(c). Nainital (Uttarakhand)

(d) Renuka (Himachal Pradesh)

With reference to Pradhan Mantri Kaushal
Vikas the
statements :

| 4 It is the flagship scheme of the Ministry
of Labour and Employment.

2. It, among other things, will also impart
training in soft skills, entrepreneurship,

Yojana, consider following

financial and digital literacy.

3. It aims to align the competencies of the
unregulated workforce of the country to
the Skill  Qualification
Framework.

National

Which of the statements given above is/are

correct ?

(a) 1and 3 only
(b) 2 only

(¢) 2and 3only
(d 1,2and3
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1920 #, frafaflgs § @ fFeR 9@ Tm
gfafda &t “wusa g’ w@ foan 2

(a) AT 3feem B & 1

(b) fo=g HamEw

(¢) @13y 3feam forerat wetem
(d) T udE i sfean dEmEd

Fferfiga & § S5 e ged e &% ?
(a) TETH! Mg 4 R TS shl TATYAT <l |
(b) ersy i 3 Fogyr w1 @A o |

(¢) P I TENEA™ I HHHS H AGH
o

(d) TrEay &R sfemw fufae wfdy qden o
TEATT IH ITd YUH T 54 |

frafafis # § SH-a/& 74 aa § ga Ao
1] @ 1/ TWTa THEI &l Skl o/
B

1. 7 o b

2. ﬁmmmnqgm_

3. WY FEER B A = ST

Fr=r feu T, e 1 T HEE IR gAY
(a) had 1

(b) had 2 3N 3

(c) <hael 13T 3

d 1,231 3
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SN gaedl & ey #, frefafed s @

ﬁwm:

1. Ha1 § s gard *1 3= 3N Eeh] A
. GO AT FI YEA T H FH HAT 2 |

9. Uk Wk # yar K HiE qfam TE A
21

3. o gwIEty a% fGEs e FN g &
Saofies # AeH. L gl 2 |

39t Al ° A BiE-AE FE 2R 2

(a) ohael 131 2

(b) HaH 3

(c), e 131 3

(). 1,23 3

ha orfoyarar W FHeE & fow wwliedd

(fushis.), st e &fa @ 3 st

Toast srdferarer il R W F AU H

HEEal 24 % fou @3 g ) v Rty 2,

ater{d &%

(a) SrerEad § 2002 % Hgwofg fawm &
yeeff forgrame 4

(b) Tt 2 ST § 2012 & Ao fawmE @w
W Y HEEH |

(¢ Ufw # 2015 # Ferary THETT W HIH Y
Hah HaeE |

@) =% fegt # 2016 F Tova wyrmofia fawm
frgr e |
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79. In 1920, which of the following changed its

name to “Swarajya Sabha” ?

(a)  All India Home Rule League

(b) Hindu Mahasabha

(¢)  South Indian Liberal Federation
(d) The Servants of India Society

80. Which among the following events happened
earliest ?

(a) Swami Dayanand established Arya
Samaj.

(b)  Dinabandhu Mitra wrote Neeldarpan.

(¢) Bankim Chandra Chattopadhyay wrote
Anandmath.

(d) Satyendranath Tagore became the first
Indian to succeed in the Indian Civil
Services Examination.

81. Which of the following is/are the possible
consequence/s of heavy sand mining in
riverbeds ?

1.  Decreased salinity in the river
2. Pollution of groundwater
3.  Lowering of the water-table
Select the eerrect answer using the code given
below :
(a) 1only
(b) 2 and 3 only
(e) 1and 3 only
(d 1,2and3
CYRF-F-TXLI (35
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With reference to agricultural soils, consider

the following statements :

1. A high content of organic matter in soil
drastically reduces its water holding
capacity.

2. Soil does not play any role in the sulphur

3. Irrigation over a period ‘of time can
contribute to the salinization of some

agricultural lands,

Which of the statements given above is/are

correct ?

(a) 1land 2 only
(b) 3 only

{¢)». 1and 3 only
(d 1,2and3

The Partnership for Action on Green Economy
(PAGE), a UN mechanism to assist countries
transition towards greener and more inclusive

economies, emerged at

(a) The Earth Summit on Sustainable

Development 2002, Johannesburg

(b) The United Nations Conference on

Sustainable Development 2012,

Rio de Janeiro

(¢c) The United Nations Framework
Convention on Climate Change 2015,

Paris

The World Sustainable Development
Summit 2016, New Delhi

www.jkchrome.com
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85.
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“sp g’ w1 frefafed # @ feed @ g
??

1. e 1 < 999 8

9. Sa-gciagitehl %l & fmfor |

3. 3femIfes I §

4. AT weTwd |

5. o () HHYA Srenfea §

Hi= fgu T e &1 FEI W HE IR AT
(a) had 1,8 30N 4

(b) Had 2,33 5

(c) hae 13 4

(d 1,238,435

Tt sut w fa=am FHifse -

1. 9 ¢iu sarengd! th |fha sarongeEt 8
S 9T eg-aE | fem R

2. &F @9, T2 Few % T 140 Feeft @
7 fem g

3. fuwelt sv 9F 9 saragEt #1991 H
ST g3 AT &R a9 § I8 Ffssa s
g2 |

I YA H H hH-H/E FE 23 ?
(a) Ha@ 1
(b) 233
() Had 3
(@ 133
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86. YIGITT FoAFART AT GG YT A HHTER

87.

(36-A)
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¥ 3fgfad grar 2 2

(a) 3% HN & 9% €9 § JAEF-EHT
d 3991 BT 2 |

) & &3 ¥ g8 3ar & 981 i S9-fafaear
FI FH TR |

(¢) THF TR 1 I9FN HIATSH] b ISV
forar ST B |

(d) 39 8§ HE T

fafefad suE w four Fifsa .

1. fowm H  waifte e fufwt
Iwhicat g 9 Jal # et 2 |

9. fava & uw-faere 4 rfos v fafeat
stegforar, semfEn ot fhefifi %
Usg-a51 o fea §

3. IwEpfeadiy awl S Y MEl, YA
fiufal #& afus g § S 991
TIINOT AT B |

ztrg?ﬁamq‘.iﬁﬁaﬂqﬂwﬁﬂﬁ’r%/%?

(a) ohadl 1 3 2

(b) had 3

(¢) <had 1311 3

d 1,2 313
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84. “3D printing” has applications in which of | 86.
the following ?

1.  Preparation of confectionery items

2. Manufacture of bionic ears

3. Automotive industry

4, Reconstructive surgeries

5. Data processing technologies

Select the correct answer using the code given

below :

(a) 1,3 and4only

(b) 2,3 and5 only

(¢) 1and4only

(d 1,2,3,4and5 o

85. Consider the following statements :

1.  The Barren Island volcano is an active
volcano located in the Indian térritory.

2.  Barren Island lies about 140 km east of
Great Nicobar.

3.  The last time the Barren Island volcano
erupted was. m 1991 and it has
remained inactive since then.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2and3

(¢) 3only

(d 1and3

CYRF-F-TXLI (37-A)
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Why is a plant called Prosopis juliflora often

mentioned in news ?

(a) Itsextract is widely used in cosmetics,

(b) It tends to reduce the biodiversity in the
area in which it grows.

(c) Tts extract is used in the synthesis of
pesticides. |

(d) None of the above

Consider the following statements :

1) Most of the world’s coral reefs are in

tropical waters.

2. More than one-third of the world’s coral
reefs are located in the territories of

Australia, Indonesia and Philippines.

3. Coral reefs host far more number of
animal phyla than those hosted by

tropical rainforests.

Which of the statements given above is/are

correct 7

(a) 1and2only
(b) 3 only

(c) 1and 3 only
(d 1,2and3
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88. ‘“HMHen B AW : FARHS g A3 Tg Usd
feraes g vafda it 18 7 2
(a) SraTg YiEdd W A=H-FERN ITe
(b) UNEP gfaae™
(¢) UNFCCC ®faared
(@) fava orewfamm e
89. WNa H sNufafyes wew & dua St
Terell &% g H, frafafes gmi W feEn
W:
© HEYH TEITTH
1. S 1 e Hies —  faferm S
9.  horshdl HEE — aiA Bfedw
3. e faferm wies — T i
37 gl § | HE-AUE T8 guted 28 ?
(a) 132
(b) hae 2
(¢ 133
(d) Had 3
90. Fr=fafas T w fomm Hifvw
&7 7 FH-FH 74
FHTERl 7 3fgiEa
&ld &
1. <herat L\ T
9. shifea — St
3. fiemmen = frefdig
4. I = st
39 JEH | HH-H wdl gafea & 2
(a) 1,233
(b) <hadl 33 4
(c) had 13 3
(d) hHae 2 I 4
CYRF-F-TXLI
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fFrafefaa gearest w fimr i -

1. 9Rd & f5dt g ° wdyum SAlwdiEes
9 § T TE qrEErd o i W |

2. YRd K 39 THI H TEY € ok
Teel ‘YR Ve §% W@ T4 |

3. R 3fem w1 e feemorEn otk @7
T aTEsh §9 T |

4. TG THAA WG SRR |
frafafed o @ $F-a1 3wfw weArst &1 EaEl
HTATTHA 8 ?

(a) 4-1-2-3

(b) (BR T4

N A2-1-3

@ B-1-2-4

st & stfuer 1 Sfem @ =afweme w@asm
% Al & iad 9 F ¥ § Tifea R
Sl 2 | A % dtaue # frefafaa § @
fra@ 3ugw oA O vd Tyfead @1 § fdia
Bl 2 2

(a) IT=BE 14 T4 WAUH F 429 GMUH &
e ITEY

(b) = 17 & Wi IV # fu o= & Hifa
& feure T

(c) =8¢ 21 T WW I # TR H 7§

(d) IFIoSe 24 Ud HAYH F 449 HOEA %
3 Iy
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88. “Momentum for Change : Climate Neutral | 91. Consider the following events :

Now” is an initiative launched by 1. The first democratically elected
(a) The Intergovernmental Panel on communist party government formed in
Climate Change a State in India.

() The UNEP Secretariat 2. India’s then largest bank, ‘Imperial

() The UNFCCC Secretariat Bank of India’, was renamed ‘State
(d) The World Meteorological Organization Bank of India’.
3. Air India was nationalised and became

89. With reference to educational institutions

2 ; . the national ier.
during colonial rule in India, consider the e

following pairs : 4. Goa became a-part of independent
T India.
Institution Founder
1.  Sanskrit College — William Which of the' following is the correct
at Benaras Jones chronological sequence of the above events ?
2. Calcutta Madarsa —  Warren
. (a) 4—-1-2-3
Hastings
3. Fort William —  Arthur (.3 -9-1-4
College Wellesley

4-2-1-3
Which of the pairs given above is/are correct ? 3

(a) land2 d 3-1-2-4
(b) 2only
(¢) land3
(d) 3only 92. Right to Privacy is protected as an intrinsic
= part of Right to Life and Personal Liberty.
90. Consider the following pairs Which of the following in the Constitution of
Regions sometimes Country India correctly and appropriately imply the

: mentioned in néws above statement ?

1.  Catalonia ~— Spain

9, P — — - Hungary (a) Article 14 and the provisions under the
3 Mind e — Philippicies 42°4 Amendment to the Constitution

4, Oromia : — Nigeria (b) Article 17 and the Directive

Which ‘of the pairs given above are correctly Principles of State Policy in Part IV
matched ?

(c) Article 21 and the freedoms guaranteed

) %7 :
fa) 1,3 and2 in Part III

(b) 3 and4only
(¢) 1and3only (d) Article 24 and the provisions under the

44™ Amendment to the Constitution

(d) 2 and4only
CYRF-F-TXLI (39-A)
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ﬁtﬂ%-rﬁ‘aﬁmﬁﬁmaﬁ'lﬁq
1. gult

hz.sﬁ

3. %l
4, T
reh
6. faw

o

7. wQ

I A | FoFTe =aaw wAds ged 1 o
s ATAet i Hfee afbfa T H 7 2

(a) Hael 1,2,33 7

(b) “had 2,4,53 6

(c) had 1,3,4,53 6

d 1,2,3,4,5 6 37

frfafies o= & & foh8 & § yrgs a=eid
HYINTT FafEer 32

(a) STRUTEE SeH

(b) WY

(c) HHTAE

(d) TS
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URA % 3I9UE YHITUA & arel digdl & ged

H, frefafiga suEi w fomm Fifsw .

1. PSLV ¥ 9 39Ug YHIfed U S & =
yedft &% GaEeEl % AFed 3 IgErtt €,
Sl GSLV i g&3d: S9R I9E I
yHifad 1 % fou afiesfea fear
2

9. PSLV grl SHIfd 3908 3™ H T @
ot & wurh =7 & B8R @ udid 219
S f gt % uw fafte w9 <
Sl

3. GSLV Mk III, U SR&S drell JHEA
ared 2, forgd serm et gefty =won § 3
Tehe Wl o1 a9 g it =qed =<
2 ke, ST o1 JANT BT 2 |

I9dth S H B BA-AVA TE B 2

(a)" hae 1

(b, 2 3T 3

(e) 13K 2

(d) HaId3

qRd 8 grdee 83 % i o Hdied & ey

1, frefafiga s w fF=m Hifse .

1. fios 2o § WRG TR g dEWHE
&5 % S 0 IS F oG H AR
TEFER | '

2. WEWNHE &9 F ool Hl oAAEAd FH H
U qer wRdm ®e o % @Y IEs
gt el 1 faem e T 2 |

ITfeh HET § F RA-AVE HE 2R 2

(a) had 1

(b) HaA 2

(c) 1@(2%

@ T 1L, TEL
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93. Consider the following : 95. With reference to India’s satellite launch

vehicles, consider the following statements :

1 Areca nut .
1. PSLVs launch the satellites useful for

2. Barley Earth resources monitoring whereas
GSLVs are ‘designed mainly to launch
3. Coffee communication satellites.

2. Satellites launched by PSLV appear to

4. Fingerailice remain permanently fixed in the same

position in the sky, as viewed from a

5. Groundnut . . :
particular location on Earth.
6.  Sesamum 3. GSLV Mk III is a‘four-staged launch
' vehicle with the first and third stages
7. Turmeric using solid roeket motors; and the
second and fourth stages using liquid
rocket engines.
The Cabinet Committee on Economic Affairs Which of the statements given above is/are
has announced the Minimum Support Price correct ?
for which of the above ? (a)= 1 only
' (b). 2and 3
(a) 1,2, 3and 7 only
(¢) 1land?2
(b) 2,4,5and 6 only (d) 3only

1,3 4,5 ansl Boml - ;
(c) REER Ry 96. With reference to the governance of public

sector banking in India, consider the following
statements :

(d 1,2,3,4,5,6and 7

1. Capital infusion into public sector banks
by the Government of India has steadily
increased in the last decade.

94. In which one of the following States is Pakhui 2.  To put the public sector banks in order,
the merger of associate banks with the
parent State Bank of India has been
affected.

Wildlife Sanctuary located ?

(a) Arunachal Pradesh

Which of the statements given above is/are

(b)  Manipur coirect ?
(a) 1lonl
(c) Meghalaya y
(b) 2only
(d) Nagaland (c) Both1land?2

(d) Neither 1 nor 2

CYRF-F-TXLI (41-A)
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97. fi=fafiga wgi w fa=am HifvT 99, Fr=fafigs w femm Hifsw

98.

CYRF-F-TXLI
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1. foaw sat gu @
2. i % 3L YHIY §Y
3. Huifud 3R fesamEg mee
4. Tosmom areft 3w wuERE

IS W d ¥ FEEA . (3] W
HaT H) F AT e I B8 ?

(a) <had 1
(b) <hdd 23 3
(¢) “had 1,23 4

(d 1,233 4

fafafiga wuat w fa=m fifs

1. “Oewepl gena w@Ewm (Gefiwd
AIEeSATSS af6ee) hl TR o7 AfYHR
arfufaem, 2006 ® Tofae 2 |

2. WWA ¥ Ygell gR S (SESA) S gdEe
(3fsde) e few 0 & |

3. Hg wEiem, 99 IR SoEry giEdd
e Wi % fedt wmr § faew w3
FHSL SHWT . BE & fau waiaE
SRR W s &9 4 fioiy o 2
3 3ghl =NoT T 2 |

I U A RA-H/ TE R ?
had 137 2

(b) Had 2 I 3

(c) had 3

1,231 3

(a)

(d)

100.

(42-A)
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1. 9&f
2. 3Igdi gd
3. 9§l

4. wEd ga

I § HE-F U U Herd & 2
Had 1371 3

(b) Had 33 4

(¢) had 1,2 34

1,2,33M 4

(a)

(d)

yid § Mo Y & w4, Frafafea st
Wﬁﬁﬂ'{aﬁﬁﬂl

1. e s ¥ R wia s
(wa. g0 dt.) i g fashe wereE
F grfesa w few & odfm o1& w@
%

2. wdLaH. F fraram % fou FE s

YEEhd @ 3cdg fata faswm wfessr
(APEDA) Gfeeed & &9 H $& &l
2

3. fufesw wra =1 vgen ot T ¥ Sfow o5
ST |

ST HYAT B HHA-AVE TE B/ 2
(a) ae 13 2

(b) had 2 3K 3

(c) ad 3

(d 1,23M3
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97. Consider the following items : 99.

1.  Cereal grains hulled

2. Chicken eggs cooked

8. Fish processed and canned

4. Newspapers containing advertising
material

Which of the above items is/are exempted

under GST (Goods and Services Tax) ?

(a) 1only

(b) 2and 3 only

(¢) 1,2 and4 only

(d 1,2,3and4

100.
98. Consider the following statements :

i & The definition of “Critical Wildlife
Habitat” is incorporated in the Forest
Rights Act, 20086.

2.  For the first time in India, Baigashave
been given Habitat Rights.

3. Union Ministry of Environment, Forest
and Climate Change officially decides
and declares Habitat Rights for
Primitive and Vulnerable Tribal Groups
in any part of India. ‘

Which of the statements given abm.re is/are

correct.?

(a) 1and 2 only

(b) 2and 3 only

(c) 3only

(d 1,2and3

CYRF-F-TXLI (43-A)
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Consider the following :
1. Birds

2. Dust blowing

3. Rain

4, Wind blowing

Which of the above spread plant diseases ?
(a)
(b)

1 and 3 only
3 and 4 only
(c)
(d)

1, 2 and 4 only

1,2,3 and 4

With reference to organic farming in India,

consider the following statements :

1. = ‘The National Programme for Organic
Production” (NPOP) is operated under
the guidelines and directions of the
Union Ministry of Rural Development.

2, ‘The Agricultural and Processed Food
Products Export Development
Authority’ (APEDA) functions as the
Secretariat for the implementation of
NPOP.

3. Sikkim has become India’s first fully
organic State.

Which of the statements given abeve is/are
correct ?

(a) 1and 2 only

(b) 2 and 3 only

(e) 3 only

(d 1,2and3
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pPAree- I (ONE)

Examination:  |CS(P)- 2018 [

Series: A Subject PAPER-|

Max. marks 200|No. of ltems dropped: | 00

ltems to be taken for scoring: 100
1 B(16| AJ31]| Cc |4 | B|61| AJ76| D91 ]| B
2 D17 c |32 A 47| Cc]e2| D |77 Al92] C
3 C|18| D.|33| A48 | Cc |63 B |78 Cc 93| B
4 B|l|19| Aj3d[c 49| C|e4| B|[79] Al9da]| A
5 Al20| B[3| B|5]|D|[65] Als | B |9 | A
6 cl21| B3| B|51[|C|e6|[ B8] B|9% ]| B
7 Al22|B|37|B|52|C|e7| D8] B|97] C
8 D| 23| A|38| B|53| B|68| D |8 B |98 A
9 Cl24| B |39 A|54| A|eds| C 8] D[99 D
10 Al25| B|4 | B|55| D [70] D[8 | A [100] B
11 Cl2|D|#1|c|s6lcCc|7Mm|B]|]8]| B[
12 D|27| D|42| D |[57| C|72| D|[87] D [¥"
13 A28 A|l43|cCc |58 C|73] B8] cCc[<=n
14 D|[29| Al4]| B|s9| C|74a] cls8]| B| ==
15 C|l|3 | A|4as|[ Cc|eo|[DJ[75] C o] cCc|
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Examination:  [CS(P)- 2018 l

Series B - Subject (PAPER-I

Max. marks 200(No. of ltems dropped: 00

ltems to be taken for scoring: 100
1 D16 | B |3 | B|[4 | C 61| B |76 B 91 | B
2 Al17| Cc 32| clar|Aez| B 77D 92 | B
3 Cl18| C |33 | B[4 D63 B |78 D 93| A
4 Al19/ C |34 | AJ4a| C|es| A9 C 94 | B
5 B |20 D3| A[5]A[e5| B8] D 95 | B
6 Bl21| C |3 | B|[51] Cc[66] C |81 B|9% ]| D
7 Bl22| c (37| Cc|[52| D[67] D g2 D |97 ]| D
8 B |23 | B |38 | A[53] A[es| cC |83] B 98 | A
9 D|24) A|39 | D[54 D|[69] B8] cC 99 | A
10 Al25/ D|4 | B[55]C|[70[cCc s8] c 100 A
11 B2 )| C |4 | B]|s6| C 71| Alss| A "
12 D|l27| C |42 | D[s57T| A 72 Dl87] ¢ 4
13 Cl28| C 43| Cc[58]| A[73] B 88D 3
14 B2 | C |44 | B|59| C |74 B 89 | A .
15 Cl30| D[4 [ A|60] B|[75] A 90 B | 3
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PArER - T (onE )

Examination:  [CS(P)- 2018 l

Series C Subject |PAPER-l ||

Max. marks 200{No. of ltems dropped: | 00

ltems to be taken for scoring: 100
1 B|16 | B |31 | B[4 | B|61] C|76]| B|[91] C
2 Cl|17| B |32 | B|47r|[D|e62| C |77 B[92] A
3 B |18 B |33 | B |48 | D |63| B|78| A|93| D
4 AJ|J19| AJ3d | Df49|[ C|e4| AJ79 | B[94 | C
5 A 120 B |35 | A|5| DJ|6s5|D|8 ]| B|9]| A
6 B|l21| C |36 (B |51 B.|[66] C |8 ]| D|9%]|C
7 Cl22 | D3| D|52|[D|e7] C 8| D 97| D
8 Al23[C 38| C|53| B|68|[C |[83] A|o9sg]| A
9 D24 B |39 B[54 C |69 C|8]| A|[9]|D
10 B |25 C. |40 | C |55 [ C|70] D|8 | A [100] C
11 Cl26| D |41 | A.|56| B |[71] A|8 | B[
12 A |12T| A|j42 | D |87 C|72| C |87 | D .
13 A 128/ C |43 B.|588| C|73|D|8|cCc]~ .0
14 C|29| A4 ]| B |5 | C.|74| A |8 | B .
15 B (3 ) B |45| A |60| D|75]|.B |9 | A T
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Examination:  |CS(P)-2018 {

Series:D Subject |PAPERH

Max. marks 200|No. of ltems dropped: | 00

ltems to be taken for scoring: 100
1 A|[16]| B | 31 B |46 | D|61] A | 76| B | 91 B
2 D|17| D | 32| C |47 | A | 62| C |77 | C | 92| B
3 B|18 | C | 33| C |48 | C |63 | D | 78| B 193 | B
4 B|19| B |34]| C |49 | A |64 A 79| A |94 ]| A
5 A |20 A|[35]| D|5]| B|65| B|8 | A]| 9| B
6 B|l21|Cc|3| C|51| B|66| B|8| B |9 | C
7 D|22| A'|37| C|52| B|67| B/ 8| C |97]| D~
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